BX X5 Z b EiHs
d 10~ (40) mm

$di _$ds ‘
gd R ¢d A
— ” l
N \ — r
\ i 7
)i . { T T _ 2
‘ + OG—=0 T ‘ ic |
¢ D, 525 D, é Do ‘ r
$D ¢D D3
PEER AOER FOESM =
x B+ & HATREE |RyBHE| FREEEE U OE 2
(mm) (kN) (kN) (min1)
F1) — =
¢ b T T T gl G Cu | G |2VTF wmm| TEER SOBR
=) il pici
10 24 9 — — 0.3 12.5 14.0 0.630 6500 10000 51100 —
26 1 116 13 0.6 15.8 171 0.770 5700 8 800 51200 53200
12 26 9 — — 0.3 12.9 14.0 0.690 6500 10000 51101 —
28 1 114 13 0.6 16.5 19.0 0.860 5400 8 300 51201 53201
15 28 9 — — 0.3 13.2 15.4 0.760 6100 9400 51102 —
32 12 133 15 0.6 20.8 24.8 1.10 4900 7 500 51202 53202
17 30 9 — — 0.3 13.5 18.2 0.820 6100 9400 51103 —
35 12 132 15 0.6 215 27.3 1.25 4900 7500 51203 53203
20 35 10 —_ — 0.3 17.8 24.7 1.10 5100 7900 51104 —
40 14 147 17 0.6 27.9 37.7 1.70 3900 6000 51204 53204
25 42 1 — — 0.6 24.4 37.2 1.70 4400 6 800 51105 —
47 15 16.7 19 0.6 34.6 50.4 2.30 3600 5500 51205 53205
52 18 198 22 1 447 61.4 2.75 3100 4800 51305 53305
60 24 264 29 1 69.5 89.4 4.05 2600 4000 51405 53405
30 47 1 — — 0.6 25.5 422 1.90 4300 6 600 51106 —
52 16 178 20 0.6 36.7 58.2 2.65 3400 5200 51206 53206
60 21 226 25 1 53.5 78.7 3.55 2700 4200 51306 53306
70 28 301 33 1 91.0 126 5.70 2200 3400 51406 53406
35 52 12 — —_ 0.6 25.5 47.2 2.00 3900 6 000 51107 —
62 18 199 22 1 48.9 78.2 3.55 2900 4500 51207 53207
68 24 256 28 1 69.3 105 4.75 2 400 3700 51307 53307
80 32 34 37 1.1 109 155 7.00 1900 2900 51407 53407
40 60 13 — — 0.6 33.6 62.8 2.85 3400 5300 51108 —
68 19 203 23 1 58.7 98.3 445 2700 4200 51208 53208
78 26 285 31 1 86.6 135 6.05 2100 3300 51308 53308
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